2725

2710

155 150 150 150 150 150 150 150 150 150 150 150 150 150 150 150 150 155
I I i I I I I I I i I I I i I I i v

General Comments

See Our Associated Accessories:
Palisade Standard - Rail

Palisade Standard - Post
Palisade Standard - Pale

See Our Associated Products:
Palisade Vehicle Gate

S‘t - T ’\[ ’\[ ’\[ ’\[ ’\[ ’\[ T ’\[ T T T T ’\[ T ’\[ ’\[ T 701 Palisade Pedestrian Gate
|| N
65 55
g i Can Be Powder Coated Upon
Request
2780
Ny R , Materials
0 o v o o e Oy e oy e o o oy ol iy o )
~ e Galvanised Steel
N N
(= o % % e e e s Y v Y 1 =)
o
0 © S
& R N
o
Yo}
™
g [ o[ o[ e[ o[ o[ e[ oo o[ Je[ oo e[ o[ Je[Jo[y[9 P
2 2
o N O O O ) I [ O O [ B> I O ol
GROUNDLNE -G+ oo — NS - ——1-L
K STANDARD ARRAY §
o (ADDITIONAL POSTS & = o
02 BRACKET SOLD SEPARATELY) 2
No. Description Date ltem Component Description Quantity | | PALISADE STANDARD 2400MM
' ‘ PA344178 PALISADE STANDARD - POST 3150MM 1
< PA344220 PALISADE STANDARD - PALE 2350MM 17
PA344234 PALISADE STANDARD - RAIL 2 Weight N/A | Serial Number Revision
RM PA00001 | G5.5mm - 130mm x 30mm BRACKET 2 PA344146
Dat 10/04/2024
HERMEQ RM PA00002 | M12 BOLT & NUT 4 =
Email: sal RM PA00003 M8 BOLT & NUT 34 Drawn by JT
mail: sales@hermeq.com
Checked by GM | Scale 1:20 @A3




General Comments

See Our Associated Accessories:
Palisade Standard - Rail

Palisade Standard - Post

Palisade Standard - Pale

130 X 30 BRACKET L A Of o ]° See Our Associated Products:
(RM PA00001) ﬁ = D; ol o[ ol Palisade Vehicle Gate
L oj o % | Palisade Pedestrian Gate
-n SR R
Can Be Powder Coated Upon
Request
Materials
3150MM STANDARD POST Galvanised Steel
(PA344178)
V
| — 2350MM STANDARD PALE
(PA344220)
|_— STANDARD RAIL
(PA344234)
% o ©
. oo
= e T ~— M12 BOLT & NUT
I N s F L - (RM PA00002)
L o1 T -
\ M8 BOLT & NUT
(RM PA00003)
No. Description Date ltem Component Description Quantity | | PALISADE STANDARD 2400MM
' ‘ PA344178 PALISADE STANDARD - POST 3150MM 1
< PA344220 PALISADE STANDARD - PALE 2350MM 17
PA344234 PALISADE STANDARD - RAIL 2 Weight Serial Number Revision
HERMEQ RM PA00001 | G5.5mm - 130mm x 30mm BRACKET 2 Date PA344146 -
RM PA00002 | M12 BOLT & NUT 4
Email: sales@hermeq.com RM PA00003 | M8BOLT & NUT 34 Drawn by 3 D
. ) Checked by Scale @A3




	PA344146 - PALISADE STANDARD 2400MM
	PA344146 - 3D - PALISADE STANDARD 2400MM

